& _ Caleulate the Fo”owing.

RS +RIO = RS +R2 +R8 = RIO +RIO =
R3 +RIO +R2 +R2= RS +R7+RI+RS = RIO +RI+R5 +R2 =

o

% Solve the fo"owing:

(I have a R2 coin and a RS coin. M3 A (I have a RS and a Rl coin. MH friend h
friend has three R2 coins. Who has has three RS coins. Who has the most,

the most. monel\.j? monet.j'?

) Calculate the Fo”owing:

R4+RT=RI|] R4 " Thave RI5. T buya packet of chips for Rb.
Rb +R9= How much money do I have left?
R8 +R3 =
R2 +RIl =
R3+R8 = )
Ro +R8 = “®
RO +R2 - W) Make it R2 less.
R2 +R2 = RIl A
R4 +R2 = RI2 R6
Rb +R2 = RIO R8
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